GRADE 12                       FINANCIAL ANALYSIS AND INTERPRETATION

Financial statements provide users with information about the company.

Income statements show profit (or loss) for the year

Balance Sheets show financial position at a specific point in time

Cash Flows show the cash position with regard to movement of cash throughout the year.

The following information would be useful to the following groups:

· Shareholders (and potential shareholders)

· Directors of the company

· South African Revenue Services (SARS)

· Auditors of the company

· Financial institutions (lenders)

In addition to the financial statements that are available, certain indicators (ratios) can also be used to measure performance.

The following indicators (ratios) must be known:

1. Degree of liquidity

(a)   Current Ratio    -    Current assets : Current liabilities

· measures the ability of the business to meet short term obligations

· look for an improvement from year one to year two.
· Not too high, as this could imply bad management of working capital (inventory, debtors and creditors) Acceptable guideline of 2 : 1.
            (b)  Acid test Ratio   -   Current assets – inventory : Current Liabilities
· More accurate in terms of excluding inventory, a better measure of liquidity

· On comparison with (a) above will reflect stock levels.

· Acceptable guideline of 1 : 1.
            (c)  Average debtors collection period
                   Average debtors    X   365                 

                   Credit sales

                   Where average debtors is Trade debtors on the first day of the 
                   Accounting period  plus Trade debtors on the last day divided by 
                   two.

                   Trade debtors = Debtors control – Provision for bad debts

· measures the ability of the company to collect debts, leads to weak cash flow.
(d) Average Creditors payment period

Average creditors  X  365
Credit purchases
                     Where average creditors is Creditors control on the first day of 
                    The Accounting period plus creditors on the last day of the period 
                    divided by two.

· measures the ability of the company to pay creditors early, leads to weak cash flow as opposed to higher interest on outstanding balances.

       (e)     Rate of turnover of stock

        Cost of sales       
       Average stock

      where average stock =  Opening stock   +  Closing stock   
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· measures how often stock needs to be replaced during the year
· a low rate of turnover leads to obsolete stock, caused by stockpiling, wrong purchases policy, poor sales policy and economic circumstances.
(f)   Number of months’ stock on hand (stockholding)
       Average stock    X  12

                   Cost of sales

· useful in determining timing of the placement of stock orders

· calculated  in conjunction with (e) above

2. Solvency Ratio  -  Total assets : Total liabilities

3. Profitability ratios (expressed as a percentage)

            (a)    Percentage Gross Profit on turnover  

                     Gross profit       X   100
                     Turnover (sales)        1

(b) Percentage net profit on turnover

Net profit     X      100
Turnover (sales)     1  

(c) Percentage gross profit on cost of sales (mark-up)

Gross Profit        X     100
Cost of sales                 1

(d) Operating expenses as a percentage of sales

Operating expenses      X     100

Turnover (sales)                     1

         (e)     Operating profit             X     100
                   Turnover (sales)                     1
         4.     Risk profile of the company:
    (a)    Debt Equity Ratio

       Long term liabilities : Ordinary shareholders’ equity
       Ordinary shareholders’ equity = ordinary share capital and the retained income
a. measures the extent to which the company is geared.

b. Ratio of 1 : 1 regarded by banks as creditworthy

c. Ratio of greater than 1, implies there is a greater risk in lending further.
 (b)  Return on Capital employed

Profit before tax + interest on loans  X   100
 Average capital employed 

Capital employed = shareholders’ equity (Ordinary share capital and Retained income) plus long term liabilities   
The return on capital employed should always exceed the cost of borrowing to justify further capital (in the form of loans). This implies that the company is positively GEARED. The degree of GEARING is positive.
The cost of borrowing is the interest rate at which the loans have negotiated.
        5.     Return on shareholders’ equity

                Net income after tax                     X   100

                Average shareholders’ equity

                Where average shareholders’ equity is the shareholders’ equity at   

                The beginning of the year plus shareholders’ equity at the end of the   

                Year divided by two.

· measures the return to shareholders of their investment.
· Always compare to alternative investments.
6. Earnings per share (expressed in cents)

Net profit after tax

               Number of ordinary shares issued

7. Dividends per share  (expressed in cents)

Ordinary share dividend 

Number of ordinary shares issued 
· A comparison of 7 to 6 is an indicator of director’s policy wrt retaining funds for future growth as opposed to rewarding shareholders for investing.

· A high dividend payout (percentage of earnings) will be pleasing for shareholders but not good for future growth.

· Directors need to assess future plans when making the final decision.

       8.      Dividend payout rate
                Dividend per share     X   100 
  Earnings per share            1
       9.     Net asset value per ordinary share   (expressed in cents)

Total ordinary shareholders’ equity

 Number of shares issued

· can be compared to market value of share to see if there is fair value.
In terms of shareholders,

NAV exceeds market value – shares are undervalued.
NAV below market value – shares are overvalued.
